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(150 MPa )
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172 1/3
bxD=350 x350
a=525  (
RC a/D=1.5) 12 D16(SD390 pe=1.95%)
Fe=150 N/ ?
pw=0.60% NO.1
N(N/b D 65)=0.15(N=2880kN)
WO =785 N/ ? NO.2
n=0.23(N=4230kN) NO.3
WO, =1275N/ 2
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nof e [ n Pu
(N/_ 2 (%)
2 _ 1 0.15
150 N/ wOy™ — 12-D16 D6-@60 | UB785
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o s(N/ )x 10°N/ %) o (N/ P
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2 167 4.90 6.03 0.25
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NOch d |Qsc| & |Qcc|d |Qmax 6 | Qy|d | Ru
KNIC &N IIENIC OEKN) T )TN I )l(rad.)
o0 1]484]14 |1013] 8.8 884] 5.3]1022] 95 | 993[8.0 [1/30[F—5
2 |655]2.0 |1248] 7.4]955(3.7]1262| 8.1 ]1248|74 |1/67|F-S
3]44411.21901]22.9]901(5.111032{10.6 J1002|7.8 |1/15| F
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Q
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R=1/300(rad.) 8 NO.3 Q)
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NO.| cQmul cQsul cQsu2 | cQsu3| cQsu4 | cQsu5

(kN)  Jva(kN) | VE(RN) || V(KN) | (kN) kN) | (kN) kN)

1 993 249 | 764 013 184 077 | 669 003

2 1259 249 | 764 013 184 100 | 750 102

3 993 143 | 1078 || 1220 | 1445 128 | 694 034
NO.| cQmul |cQsul/|cQsu2/|cQsu3/|cQsud/|cQsus/

(kN) J cOmul| cQmul | cQmul| cOmul] cOmul

1 993 1.02 1.19 1.09 0.67 1.01

2 1259 0.80 0.94 0.87 0.60 0.88

3 993 1.23 1.46 1.14 0.70 1.04
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